Wk7 / lesson 1
Some thoughts on marriage…………..

‘When a man opens the car door for his wife, it’s either a new car or a new wife’.

- Prince Philip (Duke of Edinburgh)

‘Twelve years doesn’t mean you are a happy couple, it just means you are a long couple’.

- Neil Simon (American author)

(Now think about the levels of happiness during a marriage.  How does this level of marital happiness change, especially due to significant events such as the birth of children, the progress of careers, children leaving home, retirement etc. ?

Text: ‘The honeymoon is over’

AFTER THE VOWS, MARITAL HAPPINESS MAY BE DOWNHILL

(Now quickly read the text.  Which of the 3 marital happiness lines most resembles yours?

AFTER THE VOWS, MARITAL HAPPINESS MAY BE ALL DOWNHILL 

                                                                                                             [image: image1.png]
Sociologists have long firmly held that marital bliss is high in the very early years of marriage, declines with the coming of children and rises in later years when children have left home. Happiness thus follows a U-shaped trajectory over the life of a marriage, as shown in the chart.

This belief derives largely from studies that employ a technique - the cross-section​al survey - unsuited to constantly changing phenomena such as marriage because it measures attitudes at only one point in time. A better method is the longitudinal study, which measures attitudes at several points in the life course. Two newer studies em​ploying the more powerful technique now challenge the traditional U-shaped curve of marital happiness. 

  In the first, a group headed by sociolo​gist Jody Van Laningham, formerly of the University of Nebraska-Lincoln, measured marital happiness using 11 questions, such as "How happy are you with the amount of love and affection you receive?" and "How happy are you with your sexual relation​ship?" Based on the responses, the research​ers created a marital happiness score and calculated a new curve, shown as "Revised Projection A" on the chart. It suggests that happiness declines more or less continuous​ly throughout the lifetimes of married cou​ples. The respondents were interviewed in five waves: during 1980, 1983, 1988, 1992 and 1997. Because 1980 and 1983 were atypical - the divorce rates ran extraordi​narily high - the team calculated a second life-course curve based only on the last three waves. This curve-"Revised Projec​tion B"-suggests a leveling off of marital happiness in later years but provides no sup​port for the U-curve theory.

Another longitudinal study, this one by sociologist Debra Umberson of the Univer​sity of Texas at Austin and her colleagues, confirms the Van Laningham group's find​ing that marital quality declines over time. In addition, this study measured the inde​pendent effect of age - as opposed to dura​tion of marriage - and discovered that the older the spouses, the more likely they are to have a good marriage, perhaps because they are less emotionally reactive in marital conflicts than younger people or because they better appreciate their partner's posi​tive traits. Umberson's team found that al​though parenthood may have a negative ef​fect early in marriage, it exerted a positive influence in later years after children have left. Childless couples tend to have lower ​quality marriages in old age than couples who have children.

Marriage continues to be the choice of an overwhelming majority - 94 percent of living Americans have tried it at least once by age 65. Aside from the immediate eco​nomic and sexual benefits, marriage confers long-term health advantages, including emotional support and a sense of belonging, which buffer against depression. Indeed, economists David G. Blanchflower of Dart​mouth College and Andrew J. Oswald of the University of Warwick in England have calculated the monetary equivalent of mar​riage's effect on mental well-being. They find that being married is the equivalent of making an extra $100,000 a year. The ben​efit is greater for men than women, perhaps because they have weaker social support networks before marriage.

By Rodger Doyle, Scientific American,   MARCH 2006 p.16
(Read the text again and answer the following questions:

 What synonym for the word ‘happiness’ is used in the first paragraph?

And for ‘increase’?  
What other synonyms for these words do you know?

Do you know any antonyms?

What is a ‘chart’? 
Answer in Italian:

1,  Explain the key difference in the U-shaped trajectory and Project A.

......... and between Project A and Project B

2, What do Umberson’s studies reveal about:

-Couples who marry very young
-Couples with newborns
-Retired childless couples 

4, What are the advantages of marriage cited in the final paragraph? Are you convinced by them?
From paragraph 2:

This belief derives largely from studies that employ a technique - the cross-section​al survey - unsuited to constantly changing phenomena such as marriage because it measures attitudes at only one point in time. A better method is the longitudinal study, which measures attitudes at several points in the life course. Two newer studies em​ploying the more powerful technique now challenge the traditional U-shaped curve of marital happiness. 

(What grammatical form has been underlined?

Comparatives / superlatives grammar reference
One syllable adjectives (add -er / -est)
e.g. long = That road is longer than the other.  It is the longest.
NB  

· with adjectives ending in –y change to –i
e.g. dry = June is drier than August.  It is the driest month of the year.

· with one syllable adjectives ending in a consonant after a vowel, double the consonant.

e.g. big = I am bigger than him.  I am the biggest.
Two or more syllable adjectives (use more / most)
e.g. interesting = This book is more interesting than that one.  It is the most interesting.

Irregular adjectives:

Adjective
comparative

superlative

Good

better



the best

Bad


worse



the worst

Far


farther/further


the farthest / the furthest

Little


less




the least
NB 

· (a) little (less / the least) with uncountable nouns e.g. time / money / water…….


e.g. I have less time than before.

· (a) few (fewer / fewest)  with countable nouns e.g. people / bottles / pounds………
e.g. There are fewer students than before

Much  /a lot / far (molto)

a little / slightly (un po)

can also be used to modify comparatives.

e.g.  It’s much more expensive

e.g.  It’s slightly more difficult than I thought it would be.

As adjective as =equality.

e.g. I’m as big as him (= we are the same height)

Not as (so) adjective as = inequality

e.g. I’m not as (so) tall as him (= he is taller / I am shorter)

the comparative, the comparative.

e.g. The sooner the better (= as soon as possible)

e.g. The more I knew him, the less I liked him.

e.g. The harder you try, the more likely you are to succeed. 
Adverbs

Use more / the most

e.g. She works more quickly than me.

e.g. She works the most quickly of us all.

Comparatives practice

1,  ………. people come here on holiday now than in the past.

A, Lesser  

B More

C Much

D Few
2, This word has………….meanings in English than in Italian. 

A many  
B much

C most

D more

3, The exam was quite simple- ………… I expected.

A much more easy than
B much easier than

C easier as




D more easier that

4, The new method is …………… than the old one.

A difficulter 

B lesser difficult 

C much difficult 
D more difficult
5, You are my ……… favourite person.

A least

B less

C much

6,  He is not ……………… me.

A so fast like

B as fast that 


C too fast than

D as fast as
7, The older the spouses, the ……. likely they are to have a successful marriage.

A much
B more

C most

D lesser
Week 7/ lesson 2
Relative clauses

Non-defining clauses (with commas) provide extra information not essential to the sentence

Who for people

e.g. My father, who lives in Milan, is 69.

Which for things
e.g. The temperature, which until recently had been very good, is now decreasing.

NB   which can be used to refer to the entire sentence, not just the subject or object.

e.g.  He was very silent, which was unusual for him

Whose for possession to replace his / her / their / its
e.g.  Jane, whose daughter is at school with mine, lives near to the park.

Defining clauses  (no commas) provide essential information without which the sentence makes no sense.

Who or that for people

e.g. The man who / that bought my car is German.

· here ‘the man’ is the subject 

e.g. The man who / that I wanted to see is away.

· here ‘the man’ is the object.  

NB   In reference to the object, the relative pronoun is not obligatory

e.g. The man I wanted to see is away

Whom can be used instead of who in reference to the object

e.g. The man who / whom I wanted to see was away.

NB whom is often used with a preposition: to whom / from whom / with whom 
e.g. The man to whom I gave the documents lost them.

That or which for things

e.g. The car that / which I sold was very old.

NB  preposition + which (not that):  

e.g. I forgot the place in which I had left my bag.

Whose replaces his / her /its or their

e.g. A widow is a woman whose husband is dead.

Participle clauses - Participle clauses can replace relative clauses when the noun or pronoun is the subject of the sentence. 

The present participle (-ing form) can be used to replace the relative pronoun in the Present Simple or Present Continuous

e.g. The man who is living / who lives in the new house is my uncle = The man living in the new house is my uncle

The past participle is used to replace which / that + be in a passive sentence

e.g. The car which is parked outside = The car parked outside is mine.
Other relative pronouns: Where, when, why and whereby (per cui)
These can replace preposition + which
e.g. This is the place where (in which) I was born.

e.g. Do know when (the date on which) we have to register for the exam?

e.g. The method whereby (by which) he arrived at this conclusion is very complicated.

e.g.  I don’t know the reason why (for which) she left early.

Text reference:  ‘The grandmother hypothesis’.
(Identify the correct relative pronouns in this text & translated the words underlined:
The grandmother hypothesis is meant to explain whose / why / which menopause, rare in mammal species, arose in human evolution, and how late life infertility could actually confer an evolutionary advantage. The hypothesis suggests that this is because of risks associated with pregnancy and childbirth and the relative importance of parental investment to the human species. Grandmotherly investment may also be important in the few other animals who / whom / which experience menopause, such as whales. Kristen Hawkes originated the hypothesis, and C.G. Williams was the first to posit that menopause may be protective. 

Both pregnancy and childbirth are extremely detrimental to the health and longevity of women. Pregnancy increases a woman’s caloric intake requirements and childbirth exposes women, especially older women, to deadly infections. For these reasons physical anthropologists think that older women in primitive times were less productive child bearers than younger women. 

It is conceivable that older mothers which / whose / that lost their procreative viability were able to spend more of their time helping, protecting and teaching their children and grandchildren. Such an investment of time is referred to by behaviorists as parental investment. Experiments and natural observation have shown that those animals who / that / whom have had time invested in them by family members, in the form of protection and teaching, are much more likely to live to the age at that / which / when they are able to reproduce. 

On average, prehistoric women where / which / who experienced menopause may have lived longer lives and were better able to spend time supporting their children and their grandchildren. The progeny of these menopausal women benefited from additional parental investment and were therefore more likely to live to procreate. These progeny also benefited from inheriting their mother’s genes because these genes caused them to experience menopause and have more prosperous progeny of their own. This rationale is used by anthropologists to provide an evolutionary theory of menopause which / that / who holds that menopause in modern women is a remnant of a protective adaptation that allowed older females to better focus their maternal resources. 

Retrieved from "http://psychcentral.com/psypsych/Grandmother hypothesis"

Homework 7 - Comparatives, relative clauses, cloze  practice

A Comparatives -  Choose the correct possibility:

1,  ………. people come here on holiday now than in the past.

A, Lesser  
B, More

C, Much

D, Fewer

2, This word has………….meanings in English than in Italian. 

A, many  

B, much

C, most

D, more

3, The exam was quite simple- ………… I expected.

A, much more easy than

B, much easier than 
 C, easier as
D, more easier that

4, The new method is …………… than the old one.

A, so difficult
B, lesser difficult 

C, much difficult 

D, more difficult

5, You are my ……… favourite person.

A, least

B,  less

C, much

D, fewest

6,  He is not ……………… me.

A, so fast like
B, as fast that 
C, too fast than
D, as fast as

7, Even though I tried …… the second time, I still couldn’t pass the test.

A, hardly

B, more hard
C, hardlier
D, harder

8, For me, Maths is …….. subject.

A, the bad
B, the worst
C, worse

D, bad

9, It took me ……… time to finish it today.

A, less

B, lesser

C, few

D, fewer

10, She is one of the many people……….. I’ve lent money.

A, to who

B, to that

C, to whom
D, who
B Relative pronouns - Underline the correct relative:
1, An old man, who / which was carrying a suitcase, knocked on the door.

2, The girl who / whom lives here knows my sister.

3, The box that / whose Jean picked up had a hole in it.

4, The winner, whom / whose bike had an unusual design, won a medal.

5, The girl who / whom I spoke to used to be in my class.

6, The museum, which / whom was in a beautiful building, was closed.

7, A policewoman which / that we asked gave us some useful directions.

8, The boy whose / whom house we are staying in is an old friend.

9, He is the last person to that / whom I spoke.

10,The train who / which leaves at 8 stops at every station

C Relative pronouns – Choose the correct possibility:
1. He is the person… you must address any questions.

A to that

B to whom  
C to whose
D of which

2. I don’t like stories……… have unhappy endings.

A that

B they

C whom

D whose
3. I didn’t believe it at first, but in fact everything ….was true.

A they said
B that they said

C what they said
4. What’s the name of the man…..?

A you borrowed his car  
B which car you borrowed      C whose car you borrowed
D his car you borrowed
5. Colin told me about his new job,……..very much

A that he’s enjoying
 B which he’s enjoying
C he’s enjoying

6. Jane couldn’t come to the party,……………was a pity.

A that

B it

C what

D which

7. Some of the people ………to the party can’t come.

A inviting
 B invited 
C they were invited 
D which were invited

8. The newspaper is owned by the Mearson Group,……is Sir James Bex.

A which chairman 
B whose chairman
C who chairman

9. It is a question….there are many possible answers.

A to that 

B of whom 
C to which
10, He is a person …. opinion you can  trust.

A who

B which

C whose

D that
Practice Cloze - Choose the correct word for each space and write the letter in the box:

There –(0)- definite advantages to being mid-life parents. 

Parents are –(1)- established in their careers. If career issues are ironed out, children are –(2)-  of a threat. Parents feel like they have time for –(3)- their career and a family. Parents are also more financially stable. They probably own property or a house. This is one less –(4)- burden. This also means that they can probably better afford quality child care. 

Older parents say they are more patient, calm, and better able to go with the flow than they were when they were younger. The

 –(5)- away from childhood that you are, the –(6)-  it is to understand it. –(7)-  parents feel that if they had become parents in their 20s, they were still too much a child themselves to be a good parent. They've reached a new level of maturity. They don't worry so much about their –(8)-  position on the developmental scale. They realize now children –(9)- to be perfect. They don't need children to fulfill their ambitions and prove they are good people. The children are freer just to be individuals and grow 

–(10)- in loving, supportive atmospheres. 
	No.
	A
	B
	C
	D
	Answer

	0
	is
	are
	be
	been
	e.g. B

	1
	more
	less
	much
	far
	

	2
	lesser
	less
	much
	few
	

	3
	too
	both
	as well as
	like
	

	4
	finance
	finances
	financial
	financially
	

	5
	farther
	far
	long
	longest
	

	6
	easily
	easy
	easiest
	easier
	

	7
	Much
	Every
	The most
	Many
	

	8
	child
	childrens’
	children’s
	childhood
	

	9
	hadn’t
	needn’t
	mustn’t
	don’t have
	

	10
	back
	to
	up
	big
	


B
e.g. -(0)- a mid-life parent does affect some aspects of parenting. –(1)- can make you feel isolated among parents who are much younger than you are. This often happens at school events and even during childbirth classes. It can also bring out varying personality traits from perfect strangers –(2)- so rudely ask, "Are you are the parent or the grandparent?" 
Bending and squatting isn't –(3)-  easy as it was when you were younger, but parents today are very health conscious, and exercise is often a part of the –(4)-  routine. And you've heard parents say they get tired so easily - but what parent doesn't?

 –(5)- likes to have his/her sleep interrupted in the middle of the night. 

You may also worry about how your children will feel about having older parents and how old you'll be when they –(6)- from high school. You may also worry about –(7)- enough energy to play soccer at age 50. 

Having a baby at –(8)- age is a big decision. Whether you're 20 or 40, -(9)- parents will tell you that becoming a parent is one of the most satisfying things they've ever –(10)- in their life. 

	No.
	A
	B
	C
	D
	Answer

	0
	are
	being
	was
	been
	e.g. B

	1
	They
	He
	It
	Those
	

	2
	which
	who
	whom
	-
	

	3
	as
	so
	such
	more
	

	4
	most
	night
	day
	daily
	

	5
	None
	Anyone
	Someone
	No one
	

	6
	leave
	graduate
	will leave
	will graduate
	

	7
	having
	will have
	had
	has
	

	8
	any
	all
	some
	each
	

	9
	the most
	every
	most
	much
	

	10
	did
	done
	doing
	do
	


Level of marital happiness





agony





-5





Years of marriage





35





30





25





20





15





100





5





0





ecstasy








